VIDYA BHAWAN BALIKA VIDYA PITH
CLASS- 1 DATE — 28. 06 .21
SUB -MATHS S.T- PRAGYA

BASED ON N.C.E.R.T PATTERN
CH—3 (ADDITION )
WORD PROBLEMS ON ADDITION ( 2 — DIGIT
NUMBERS)

1. Amar sees 12 rats . His father sees another 4
Rats . How many rats do they see ?
SOLUTION : 12+4=16 (Ans)
See example and solve these questions .
2. Rohan has 10 orange . Rohit has 4 orange.
How many orange do they have ?
10+4= -
3. There are 6 rose. There are 3 blue flowers .
How many flowers are there ?
6 + 3 =-——---
4.17 birds flew away and 2 bird are there in the
Tree . How many birds were there ?
17 + 2= -
5. Piyush has 35 toy . Aayush has 22 toys . How
Many toys do they have ?



35 toys + 22 toys = ----—--—--—-- toys.
6.Rohan gets 70marks . Rohit gets 25 Mark’s
More than Rohan. How many Mark’s does
Rohit gets ?
70 + 25 = - Mark’s
7.There are 32 students in class 1A and 30
Students in class 1B .How many students
Are there in class 1 altogether ?
32+30 = - students.
8.There are 24 chocolate packets in a rack.
There are 18 chocolate packets in another
rack. How many packets are inall ?
24+ 18 = - chocolate packets.

Arrange in column and add .
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